MIAM |-DADE’ ' MIAMI-DADE COUNTY, FLORIDA
[ ] METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 3752901 FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA)

Jordan’s Aluminum, Inc.
5731 Dewey Street
Hollywood, FL 33023

SCOPE:
This NOA is being issued under the applicable rules and regulations governing the use of construction materials.

The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code
including the High Velocity Hurricane Zone.

DESCRIPTION: ASSA/40 mm Bertha Roll-Up

APPROVAL DOCUMENT: Drawing No. 05-193, titled “ ASSA/40 mm Bertha Roll-Up”, prepared by Tilteco,
Inc. dated 08/01/05, with last revision on 08/01/05, sheets 1 through 12 of 12 including 1A & 5A bearing the
Miami-Dade County Product Control Renewal stamp with the Notice of Acceptance number and expiration date

by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact
LABELING: Each unit shall bear a permanent label with the manufacturer's name or 10go, city, state and the
following statement: "Miami-Dade County Product Control Approved or MDCPCA", unless otherwise noted
herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors

and shall be available for inspection at the job site at the request of the Building Official.

This NOA is an association member of ASSA # 05-0216, renewing NOA # 01-0926.06 and consists of this page,
evidence page as well as approval document mentioned above.

The submitted documentation was reviewed by Cangi Font, P.E.

51/64/b7

NOA No 05-0930.04

Expiration Date: November 6, 2011
Approval Date: January 4, 2007
Page 1




Jordan’s Aluminum, Inc.

W

R

NOTICE OF ACCEPTANCE: EVIDENCE PAGE

DRAWING
Drawing No. 01-203, titled “ASSA/40 mm Bertha Roll-Up ”, Sheets 1 through 12 including 5A of

12, prepared by Tilteco, Inc., dated 07/16/01, with no revisions, signed and sealed by W.A.
Tillit Jr., PE.

TEST
Test report on Large Missile Impact Test per PA 201, Cyclic Wind Pressure Test per PA 203 and

Uniform Static Air Pressure Test per PA 202, of “Series: 40mm; Aluminum Roll Up Shutter”,
prepared by Fenestration Testing Laboratory, Inc., Report No. 2749, dated 08/24/2000, signed
and sealed by A. P. Gonzalez, PE.

Test report on Large Missile Impact Test per PA 2010f “Aluminum Storm Bar”, prepared by
Fenestration Testing Laboratory, Inc., Report No. 2760, dated 08/31/2000, signed and sealed by

A. P. Gonzalez, PE.

CALCULATIONS
Comparative analysis for slats; storm bars, headers and anchors using rational analysis

dated 09/14/00, pages 1 through 107 of 107, prepared by Tilteco Inc., signed and sealed by

W. A. Tillit Jr., PE.
Revise calculations for 40 mm Roll-Up Shutter prepared by Tilteco Inc. and signed and sealed by

W. A. Tillit Jr. PE on 07/27/05

MATERIAL CERTIFICATION

Tensile Test Report No. 13974.0001, per ASTM B 557, prepared by ATC Associates, Inc.
dated 09/20/00, signed and sealed by S.E. black, PE.

STATEMENTS
Letter of Code Compliance issued by Tilteco, Inc., on 04/04/2001, signed and sealed by W.

Tillit Jr., PE.

No-financial interest letter issued by Tilteco, Inc., on 04/04/2001, signed and sealed by W.

A Tillit Jr., PE.

Test compliance letter issued by Fenestration Testing Laboratory, Inc., on 04/30/2001, signed and
sealed by A. Acevedo, PE.

Test relinquish letter issued by Weather Guard, Inc. on 04/06/2001 and signed by D. D. Thomas.
Advise purchase letter issued by ASSA, Inc. on 04/08/2001and signed by W. Feeley.

Release letter issued by ASSA Inc. on 07/27/01 and signed by T. Kip.

Certification of drawing letter issued by Tilteco, Inc. on 09/24/01, signed and sealed by W. A.

Tillit Jr. PE.
Application letter issued by Shutter Source, Inc. on 09/04/01 and signed by L. Verdon.

e

O//04/07

Candido F. Font, P. E.

Senior Product Control Examiner
NOA No 05-0930.04

Expiration Date: November 6, 2011
Approval Date: January 4, 2007



GENERAL NOTES:

1. ASSA/40mm BERTHA ROLL—UP SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED
FOR CODE COMPLIANCE IN ACCORDANCE WITH THE 2004 EDITION OF THE FLORIDA BUILDING CODE.”

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE. IN ORDER /
TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED WERE NOT OVER STRESSED, A 33%
INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR -
CD=1.60 WAS USED FOR VERIFICATION OF FASTENERS IN WOOD. -

ASSA/40mm BERTHA ROLL—UP ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN -
ACCORDANCE WITH SECTION 1608.1.4 OF THE ABOVE MENTIONED CODE PER FENESTRATION TESTING LAB. .
REPORTS # 2749 & 2760 AS PER TAS-201, TAS—-202 & TAS—203 PROTOCOLS. -

2. ALL ALUMINUM EXTRUSIONS SHALL BE 6063—T6 ALLOY (UNLESS OTHERWISE NOTED). .

3. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 SERIES W/50 ksi YIELD STRENGTH AND 90 ksi TENSILE -
STRENGTH OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018. .,
ALL S.M.S. ARE TEK SCREWS MANUFACTURED BY ITW—BUILDEX. /

4.TRBOLT7§‘ TO BE A.S.T.M. A-307, GALVANIZED OR AISI 304 SERIES STAINLESS STEEL WITH 36 ksi MINIMUM YIELD ~
STRENGTH.

S. STORM BARS AT FLOOR OR CEILING MOUNTING INSTALLATIONS MAY BE REMOVABLE AT NON HURRICANE ~
CONDITIONS. HOWEVER, EACH STORM BAR SHALL BEAR A PERMANENT LABEL IN A VISIBLE PLACE WITH A WARNING -
NOTE INSTRUCTING THE TENANT OR OWNER THAT STORM BARS MUST BE INSTALLED WITH CORRESPONDING ~
HARDWARE DURING PERIODS OF HURRICANE WARNING AND THAT ROLL UP SHUTTERS WILL NOT OFFER HURRICANE -
PROTECTION UNLESS ALL STORM BARS ARE INSTALLED AS DIRECTED.

6. REMOVABLE STORM BARS SHALL BE STORED IN A CONSPICUOUS PLACE WITH EASY AND IMMEDIATE ACCESS SO -

THAT THEY CAN BE REACHED AND INSTALLED ANY TIME (HURRICANE CONDITIONS OR NOT) SLATS ARE ROLLED .
DOWN. THE EFFECT OF THE SLATS ROLLED DOWN WITHOUT STORM BARS IS; THOSE SLATS WILL SLIP OUT OF .
TRACK DUE TO THE DEFLECTION CAUSED BY WIND FORCES. /

7. ANCHORS TO WALL FOR SIDE RAILS & BOX CONNECTION SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED) -~
(A) TO EXISTING POURED CONCRETE (f'c=3320 psi Min.):

—1/4" ¢ TAPCON ANCHORS AS MANUFACTURED BY ELCO TEXTRON.

NOTES:
A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE 1 3/4" ~
NO EMBEDMENT INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT. -

A.2) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE -
EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE .
BEHIND SUCH PANELS. -

(B) TO EXISTING CONCRETE BLOCK WALL:-
—1/4" @ TAPCON ANCHORS, AS MANUFACTURED BY ELCO TEXTRON. -
NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/4" -

B.2) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE -
EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE .
BEHIND SUCH PANELS. -~

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE -
ANCHOR'S MANUFACTURER. -

(D) ANCHORS REQUIRED FOR STORM BARS, HEADERS & MULLI
SHALL BE AS SPECIFIED ON APPLICABLE SECTIONS SHOWN
POWER BOLTS & CALK—IN ANCHORS TO BE AS MANUFACTURED BY POWERS FASTENERS, INC. -

1/4” @ TAPCON ANCHORS, AS MANUFACTURED BY ELCO TEXTRON. -
MINIMUM EDGE DISTANCE AND SPACING FOR ABOVE MENTIONED ANCHORS SHALL BE AS

e

s

ON CONNECTIONS TO CONCRETE (f'c=3 ksi Min.)

’

INDICATED BELOW OR AT ABOVE MENTIONED SHEET, WHICHEVER IS LARGER (MORE CRITICAL). p—

oo o | EMBEDMENT ) | ASSA/40mm BERTHA ROLL—UP A

C EDGE DISTANCE CONCRETE CONCRETE BLOC 3
3/8"¢ POWER BOLT ' 3 3/4” - 4 1/2" - VARIES 112" -l—l__ JORDAN 5(,,;‘3‘,'2’9)’””' INC. e
1/4°8 CALK—IN 2 172" - 3" 7/8" (3000 psi) - ILIEC O .xc. ot \DEHEY, STREET
1 /4’ % TAPCON - 3° . 21 /2" , 13 /4 ” (3000 psi) ", 1 1 /4 ”o ) TILLIT TESTING & ENGINEERING COMPANY HOLLYWOOD, FL 33023 05-193
3/8"0 CALK—IN - 3 3/4" 4 1/2" - 1 1/4" (3000 psi - 93@5 “é o M a5, RO SASENS, 5, 35106 PH: 9543861329, FAX: 8549651349 DRAWING No
7/20¢ POWER BOLT/ 51; Vs 6" B VAR/ES » 7 7/2M' "'\w; EB-0006719 REY. No DESCRIPTION DATE REV. No DESCRIPTION DATE
EUG D 9 2005 WALTER A. TLLIT Jr., P. E 1 ow o1-205 | &/1/05] 3
UG 0 2 2005 FLORIDA Lic, # 44167 2 GENERAL NoTES |0/ 4 SHEET 1 OF 12

4 8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE

ON SHEET 5, 5A, 6, & 7 OF 12 RESPECTIVELY.:

WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. -

9. ROLL-UP MECHANISM NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT -
TESTING AGENCY. -

10.(a) THIS P.A.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A

-

SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.

~

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE
SAFETY OF THIS PRODUCT, BASED ON THIS P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE A

CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S -
RESPONSIBILITY.

(c) THIS P.A.D. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS. *

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT <
WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE -
RESPONSIBLE FOR THE PROPER USE OF THE PA.D. -~

(e) THIS P.A.D. SHALL COMPLY WITH SECTION 2:61G15 OF THE FLORIDA ADMINISTRATIVE CODE. -

11. SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE SIDE -
RAIL APPROXIMATELY 4" ABOVE THE BOTTOM OF SUCH RAIL. LABEL SHALL READ AS FOLLOWS: .
JORDAN’S ALUMINUM, INC. ~

HOLLYWOOD, FL. .
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED.

7

12. ONCE ALL COMPONENTS HAVE BEEN CHOSEN, CHECK FOR COMPLIANCE WITH SECTION 1613.1.9 OF .
THE FLORIDA BUILDING CODE 2004.

-~

i o

05033009

F.B.C. (High Velocity Hurricane Zone)




- / .
o SO o My 000 0RO
Cont. -~
/ @—\\ 7 y Ve
7 , =,
Z 2 = |
% A 7 S = S s 5
2 7 (vp.) ; 7 e N e S — %
MY | e >V v D P | e . i | § . smm——— i | § S, s——— | 77
% ? / ©@®OR F 7 4 §
g % (Typ.) 4 Inm E
7, 7 K 7, = g
Z 7 :
4 ———— (yp. Ea. END) ’/// 4 — :
7 2 7 : t = 1
A= =k OIS = |
g Z z g RN
7 7
/ Max. SLAT SPAN (SEE SCHEDULE) !bv ! @AP%ZEC-‘IXBLE
Max. SLAT SPAN (SEE SCHEDULE) Max. STORM BAR SPACING (SEE SCHEDULE}) / | |

MAXIMUM HEADER SPAN (SEE SCHEDULE)

TYPICAL SINGLE UNIT ELEVATION (NO STORM BARS REQUIRED) ,

NOTE: SEE SHEET 2 & J OF 12 FOR COMPONENTS NOMENCLATURE. ,

TYPICAL MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED) *

NOTE: SEE SHEET 2 & 3 OF 12 FOR COMPONENTS NOMENCLATURE.

AN

Q

AN

Max. MULLION SPACING —-’ / —" Lﬁgfv ggjg% s(;;i_g gc NEDULD) / Y 0R® ’ 4
’ ‘, b w-1 or(@ ' ! W-2 ¢ @,@ Q)
/, ' /
i -
| oo | @0Fe
- | — /
o || — 1
§ ! ® © o ®\ it v 1 [ ],
g il il ¥ 8
8 l | | 3 3
4 5 S h 5 5 i g0
g } — (), 1] e H—l— i ¥ sy | § — | é E
2 A4 | | l e 3
: - ‘ ! : . i S S I g 2
=) o o . = %]
§ | I=E== 00 ® 6= === === |=|ISE
3 ] | = ) () & — i =g ;
: | i — 3= = E==l=lE
. JR—— 7 -1 -]
———-—-——-?—— —vﬂ I i b (Typ‘ Ea. END) ) ——— - l ' — \\ i
=S| 1= ® . O HiE= l — || 5 3
7 § v F
AN NNANNNNNNNANNNNANANNNNNNNNNNNANNNNNNNNNNNN , \\\y(\ N\ NNNNNNNANNNNNN NANNNNNA w\ N:\ N\ P
/ p|w-1 Max. SLAT SPAN (SEE SCHEDULE) IH w-2 7 ]\\ WHEN
Max. SLAT SPAN Max. STORM BAR SPACING (SEE SCHEDULE) i ' APPLICABLE
(SEE SCHEDULE) / T T i 1k 1

TYPICAL CONSECUTIVE SINGLE UNIT ELEVATION (NO STORM BARS REOUIRED)‘

NOTE: SEE SHEET 2 & 3 OF 12 FOR COMPONENTS NOMENCEATURE.

NOTE:
SEE SECTIONS ON J
SHEET 4 THRU 7.

/

v/
TYPICAL CONSECUTIVE MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED)

NOTE: SEE SHEET 2 & 3 OF 12 FOR COMPONENTS NOMENCLATIgMET

/TiLIEC O me \

TILLIT TESTING & ENGINEERING COMPANY

@ WHEN /
APPLICABLE

F.B.C. (High Velocity Hurricane Zone)

8355 N.W. 36ih. St, Ste
EB-0008719

GARDENS, Fl. 33186

. J05 —~ VIRGINGA
Phone : (305)871-1330 . Fox : {305)871-1531

WALTER A. TILLIT Jr., P. E.
FLORIDA Lic. # 44167

ASSA/40mm BERTHA ROLL-UP DR%’_VV_E“'
JORDAN'S ALUMINUM, INC. 8/1/05
(ASSA § 124) DATE
5731 DEWEY STREET
PH: 954—?80#—%3D'F5(- 3 B6—1343 05-193
BEV. No u';cmmm DATE : REV. No DESCEPTION TATE DRAWING No
1 oLD 01-203 o/ 7

4

SHEET 1A OF 12




o 4 / o ! 3 a ]
f JW, n ' Y ’ 2.000" 2000
. — 181" @ -
5 : " T NTE—] ! 2.000"
. /
. ;2
.R R ! R =} 045 )
q - '
2 o s
L= /8 4 8 / 5 .
|| w ~ g 1/8
e i, , -r
. 157—-; —_— 34 \1/5-
(& TYPE 1 SLAT: ' TYPE 2 SLAT:
EX TRUDEgLAATLUM/NUM ’ EXTRUDED ALUMINUM @ TYPE 1 STORM BAR:
BOTTOM SLAT 2" EXTRUDED STORM BAR '
6063-T6 ALUMINUM ALLOY 508T—T8 ALUMINUN ALLOY ,
SCALE: 1/2" = 1" SCALE: 1/2" = 1” 6063-T6 ALUMINUM ALLOY @ TYPE 2 STORM BAR: .
SCALE: 1/2" = 3" EXTRUDED STORM BAR ® TYPE 3 STORM BAR: -
6063~T6 ALUMINUM ALLOY 4” EXTRUDED STORM BAR
SCALE: 1/2" = 1" 8063—T6 ALUMINUM ALLOY
/ SCALE: 1/2" = 1°
2.000'——‘ , Y
1 ! 2.000" | 2.000" | / /
| / . P /
3,000" 4,000 .
3/8"-16x4 1/2" 5. * 1/8" -—r-——f/e' 4.000"
CAP SCREWS W/NUT
@ 24" 0.C. STARTING /
J /AT 10" FROM TOP AND r
BOTTOM OF STORM BAR.
§ 1T/Y‘:’:> e ’ a / / 'g 1 /4./ .Q /
~ . /" — / - § § §
o
/
w8
o
, , /
HEADER TYPE 1: (H) HEADER TYPE 2: (I) HEADER TYPE 3:
8063—TE ALUMINUM ALLOY / 506316 ALUM‘INS{M ALLQY ) 6063-T6 ALUMINQM ALLQY Y
! SCALE: 1/2" = 1* SCALE: 1/2" = 1 SCALE: 1/2" = 1
TYPE 4 STORM BAR: , /
4" HEAVY EXTRUDED STORM BAR / @ TYPE 5 STORM BAR: /
608376 ALUMINIM ALLOY 4" HEAVY EXTRUDED STORM BAR *
SCALE: 1/2" 6063~T6 ALUMINUM ALLOY
SCALE: 1/2" = 1° v
/
6.00a6" v
2.583" il
—1.050" 11437 — \
)14_4._ ~§ /§E J __':%g..jz’i——”-m /
h o - [ 1 | ) I E}ﬁ-
b — 1,503 —] .3 /

TYPE 1 . F.B.C. (High Velocity Hurricane Zone)
HEADER TYPE 4: ' SIDE RAIL: , ASSA/40mm BERTHA ROLL-UP o

6063—T56 ALUMINUM ALLOY 8063-T6 Alum. ALLOY

SCALE: 1/2" = 1* | SCALE: 1/2" = 1* /# \ JORDAN'S ALUMINUM, INC. E/DIA/Tgs
(ASSA # 124)
lL Ec°|"c 5731 DEWEY STREET

TILLIT TESTING & ENGINEERING COWPANY HOLLYWOOD, FL 33023 05—193
a350 K. Jth St Sto, J05 - WRGNA SUDENS, 1L 33180 PH: 954—986—1329, FAX: 954-986-1349 PRAWING
0 2 005 _ F (e E_s—aaae;;s RV, No DESCRPTION TATE | RV, No DESCRIPTION DATE o
WALTER A. TILLIT Jr., P. E 1 Ot 01-203 8/1/08 F]
AUG 2 FLORIDA Lic. § 44167 2 P SHEET 2 OF 12




3.000"

4.000"

®OR@ HOUSING\

1

#1ox1/2" s.M.s._/L—'

@ 4"

o.C.

BRACKET DETAIL 1

275
%_ Min.

| SIDE |

/

END

@ DRUM scuc: 144+ -

1010 ELITE ROLLED STEEL F. E.
P. 0. 1 Z 200 DESIGNATION

Flu= 410 NW/MM’ % OF STRETCH
MINIMAL ON TEST. BAR OF 80 MM: 24 %

I

, @) s

e
/

G—90 GALVANIZED COATING Thk.: .060"

s

1/4"__|
e

@ Galv. STEEL DRUM B

OloLoN

7

ll%l

T

/ 1 T

/

® Galv. STEEL —| /
/ SIDE BRACKET | _@

-

N\

)
/
/ -

TYPE 3 MULLION: -
6" EXTRUDED MULLION -

-+

Y) WALL MOUNT HOUSING

SCALE: 3/16" = 1*
J105-H14 ALUMINUM ALLOY

/

THICKNESS: .032"

/

SCALE: 3/16" = 1°
3105-H14 ALUMINUM ALLOY
THICKNESS: .032°

UTTER SIDE COVER

s

4

%9.\?,5

\\— oPTIONAL

"

/

/
BALL BEARING ASSEMBLY

/
SHUTTER COVER \

#10x1/2" SMS™
e 4 0c 1

BRACKET DETAIL 1A Y

FOR CASES W/0UT

HEADER USE (2)
#10 x 1/2" S.M.S.
T0 EACH SIDE RAIL

.§ / /o 4 e
~ -l j=—1/8" ¥ =1 ne.
-4
./
TYPE 1 MULLION: ' 4""’5(%5052’%%{%%' /
Y onr e MLLLION £053-T5 ALUMNM ALLOY
SCALE: 1/211 - 1u SCALE: 1/2. = 1" \/
(2) _CONCRETE ANCHORS SPACED
“"0.C. VERTICALLY W/ 3/4*
ERGE DISTANGE T0P & B0HTOM
\ 6063~T6 ALUMINUM ALLOY
22227277 77/ ’ B
VARIES
R | %
Galv. STEEL — / <
SIDE BRACKET AN
) \ :
N / / CONCRETE ANCHORS
@ Galv. STEEL DRUM anisd //, OR #14x3/4" S.M.S. \\
———@ @ 12* 0C. |
\ f /
- LL :[g J / §
FOR CASES W/
FOR CASES W/OUT
/ r ReAdeR Uk (2 by /
Tz #10 x 1/2° SMS. Tus 6 & oc
| T0 EACH' SIDE RAIL -M.S. G
| BAL BEARNG ASSEMALY / Ly
- Z

Y

A

CONCRETE ANCHORS 5
@ 6" 0.C v /8
"
s L
/
§ /
FOR CASES W/
HEADER USE y
#10 x 1/2* y,
SMS @ 6 oc,
i
7
— 2z

DRAWN BY:
ASSA/40mm BERTHA ROLL—UP s
JORDAN'S ALUMINUM, INC. 8/1/05
ILIEC O . (s f 124) ur
5731 DEWEY STREET
TILLIT TESTING & ENGINEERING COMPANY HOLLYWOOD, FL 33023 05—-193
> —] :55 n. 38th (;gg)",:'-ﬁ_g;‘,’,g ;v;fcm;g (Jasm)an  f1, 391 — 7:; 954—986— 15:9, Fg ':54—985; 1349 - ORAWING Mo
WALTER A. TILUT Jr., P. E 1 oD 01-203 &1/05 3
AUG 0 2 2005 FLORIDA Lic. # ;4,57 p v SHEET 3 OF 12

207222,

(3)#14x1” SS. M.S. AT EACH
/— BRACKET. (TAP MULLION TO
ACCEPT 20 THREADS PER INCH)

SN
Q| = )

DO x@

{

/

i

( : ) Galv. STEEL ——
SIDE BRACKET |

/
@ Galv. STEEL DRUM

7

\

N

/%

TTEEITTY

' HHIIJI

[

BALL BEARING ASSEMBLY

®°R® f“:OUSING—\ I};A"X —

.._®

BALL BEARING ASSEMBLY I

® OR® HOUSING —-\

Galv. STEEL
SIDE BRACKET

7
@ Galv. STEEL DRUM I

#10x1/2"

S.M.S.

| ©® 4”00

i 5.500"

<l1 \—— opTioNaL

@ CEILING MOUNT HOUSING '

SCALE: 3/16" = 1*
3105-H14 ALUMINUM ALLOY

THICKNESS: .032" ’

END BRACKET SYSTEM

ELEVATION 5

T #10x1/2" SMS.
® 4" o

/

PLAN

® SIDE BRACKET scus a1+

1010 ELITE ROLLED STEEL F. E.
P. 0. 1 Z 200 DESIGNATION

Ftu= 410 NW/MM' X OF STRETCH

MINIMAL ON TEST. BAR OF B0 MM: 24 %

G—50 GALVANIZED COATING Thk.: .060°

* SEE NOTE 11 ON SHEET 1 OF 12|

F.B.C. (High Velocity Hurricane Zone)

7

V4




/

wecon /7 4 F14x3/4" SM.S.
ANCHORS POURED CONCRETE OR ® " 0.
(SEE SCHEDULE ON CONCRETE BLOCK 7

i

THIS SHEET) REQUIRED —\
 —

l\\\

CONCRETE BLock 4

; REQUIRED ——\

Z.

/ / , %

L a 7
2 ////////////// 2y ~|
i = ' i , TAPCON I '/,’ |

U fgax. , ) ggxz%r . %

.

/
SECTION P — P (1) : WALL MOUNT

SCALE: 1/2" = 1* |

J

SECTION P - P (2) :

L =l

-——___

2%2%1/8" Cont. Alurn.”
ANGLE W/ f14x3/4° SM.S. ©
6 0.C. 70 SDE RAL ,

SIDE RAIL ANCHOR SCHEDULE *
MAXIMUM DESIGN PRESSURE RATING "W” (p. s. f.) AND’
CORRESPONDING MAXIMUM ANCHOR SPACING(in)* FOR ~

SIDE RAILS (K) CONNECTION TO POURED CONCRETE OR '
MASONRY WALL !

MAXIMUM
DESIGN | SIDE RAIL (K)
LOAD
W (ps.f) INSIDE BUILD—0UT
WALL MOUNT ~ MOUNT MOUNT  ~
6" 6“ 6"
80.0 OR LESS !
6"’ 6 6"
'j 5" 7 5‘! Vs 6" ’
>80.0 TO 100.0
6" 7/ 6" 7 6

/
* MAXIMUM ANCHOR SPACING (in.) AT SIDE
RAILS VERSUS EDGE DISTANCE = E. D. 7

MAXIMUM SIDE RAIL ANCHOR SPACING ARE VALID FOR °
3 1/2" EDGE DISTANCE. FOR £. D. LESS THAN 3 1/2"
REDUCE ANCHOR SPACING BY MULTIPLYING SPACING
SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS [/
(REDUCED SPACING OBTAINED USING FACTORS SHALL
NOT BE LESS THAN 3°):

SCALE: 1/2" = 1"

i

INSIDE MOUNT

i \_@\

D]) W—1 OR W-2

SECTION Q@ —- Q :

MASONRY

FOURED CONCRETE

7

SUBSTRATE LEGEND -

/
TAPCON
ANCHORS

{SEE SCHEDULE ON

THIS S‘HEEI‘) x

/

1.500"

REQUIRED
=
/ 7

1.500"—]

L

N

Z

/

MULLION MOUNT (FACE MOUNT)

Y, ax.

w—1 OR W-2 B])

J

SECTION R — R : MULLION MOUNT (FACE MOUNT)

M) @, -0 ©
*® / o (®)
#14x3/4" SMS5. © (2)f14x3/4"
8 o.C. SMS. @ 8 0C ]
/ |
ﬁ_”_
L XT ¥V k= = I | l=gr=ly ~N s ==l
E£Q | EQ $$
.L " A I b B Al s
1/4" | | ]

SCALE: 1/2" = 1" SCALE: 1/2" = " y
~
-
J Hl4x3/4" SMS. © -
- 8" O.C.
1/4" Max. / \ 1[/4 Max.
=], T “5 /n T { H=pr=l|
B.S 1y M =]
; T
/
POURED CONCRETE OR /
CONCRETE BLOCK v
2'%2°%1/8" Cont.

/ 17
F14x3/4" SUS. /_
e 5" 06—\
i 7 15 EJ f
| ! _£9] 2
a1 \. =]
v /
A A%

s

ALUMINUM ANGLE

J §
F14x3/4" SMS. /

@ 6" 0.C

1"'x3%1/8°, 2'%x3x1/8"

I'%3%1/8" OR Ix4'x1/8"

CONT. BUILD~-OUT TUBE.

2'%2"%%1/8" Cont.
ALUMINUM ANGLE

/

SECTION R — R : MULLION MOUNT (INSIDE MOUNT)

SCALE: 1/2" = 1* /

SECTION P — P (3) : BUILD—-OUT MOUNT F.B.C. (High Velocity Hurricane Zone)
ACTUAL E. D. FACTOR ' g 54
- SCALE: 1/2" = 1° DRAWN BY:
P2 2 p ASSA/40mm BERTHA ROLL—UP A
2 1/2” JORDAN'S ALUMINUM, INC. 8/1/05
/- .75
7 7 ILIEC O nc. 4 § 124) il
2° .50
——~ (\ TILLIT TESTING & ENGINEERING COMPANY H%ﬁ;wggyplfynsrggs 05—183
= 8355 N. Pza ’;!'sm (.y%: )g;;_.’;gga ma 7 m%"st 5511 3186 PH: 954-986-1329, FAX: 954—986—1349 DRAWING No
B EB-0006719 REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE
AUG 0 2 2005 w4 LT, i 8 € T T 1 s« o 12




—

/ / / / , ; ,
M CONCRETE ANCHORS @ 12° 0. C. / " . . FOR STORM BARSgE}& ‘, . 1 1/2%1 1/2°%1/8"'%0'—4 3/4" -
POURLD CONCRETE CONCRETE ANCHORS @ 6° 0. C. ’ d I lgzhd L2X18  INSTALLATIONS INTO-GONERETE, PR % 2 ALUMINUM ANGLE W/ (2)3/8"8 +
N ~3/4"w«3/2"~  Ajum. ANGLE EA. / USE (2)t/4"8 TAPCON ANCHORS EA. POWER BOLTS W/ 3 1/2" Min. -
7 [y
/ I ~ SIDE SIDE FOR DESIGN LOADS UP TO 80 Y EMBEDMENT EACH SIDE. .
i . e \ TN PSF, 54° MAX. SLAT SPAN & 90" ' W
i J/ P ~ h . MAX. STORM BAR SPAN & / ) 0 0
Ve ™ ' N / (2)3/8"#x3" POWER BOLTS EA. SIDE *
POURED CONCRETE / \ g ™ AT ! S FOR GREATER LOADS AND SPAN ¢ ’
i 050 REQUIRED T~ \ W N/ CONDITIONS. ;s y 7
I . P ‘ ) } | / AN FOR INSTALLATIONS INTO HEADERS /& /@ @ @
H ‘ / N - J I , [P USE (3)#14x3/4" SM.S. EA. SIDE. * N g
i l / \ J g AN e , Py / @ g
il i \ | \@ N e v G0 \FOR STORM 8ARS (D) & e 4 O
! | _/ i ——— » T INSTALLATIONS INTO_CONERETE, / 1 | 1 ] o i
i { / '2)4#14x3/4" S.M.S. EACH USE (1)3/8°8x3" POWER BOLTS S W i
i { J/ / @if14x3r4 SMS. EACH = Q ,  EA_SIDE AT CENTER OF ANGLE. ’  § R by o]
I ' L . = @&@ AND, (Df14x3/8" FOR INSTALLATIONS INTO HEADERS , S 8 :
| | - s s FOR CASES ‘M.S_EACH SIDE FOR @ G USE (2)#14x3/4” SM.S. EA. SIDE, 3
i | 4 FOR CASES W/OUT HEADER  storM eurs ©& ®  / y, / ¥ 18
i e } ’ W/OUT HEADER ! . \ (2)#14x3/4" S.M.S, FACH SIDE ~
2" (MN)—i Fau / . 7 : - ! S EDGE OF  ror STORM BARS (©) & (D) AND,
i l ' l SCALE : 1/2" = 1% / / = - (3)f14x3/4" S.M.S, EACH SIDE *
I ! OPTIONAL ;| } 000 ’ . . + FOR STORM BARS B)& ! FOR STORM BARS ©& ©)
| / 1 1/2°%1 1/2°%1/8 INSTALLATIONS INTO CONCRETE, USE ' - /
it . l | § D
\ ” } v 2" (MM— { { T T R I ;Iurm%G%REAEiTH %;/gs.s‘;/’c‘;il/%gsm L-I_I-!’NT; ?5 g’s?rf I SCALE : 1/4" = 1*’
I I N ‘ . N =
I ! @ oR @ | I I ] SIDE 54" MAX. SLAT SPAN & 90" MAX. = ., 7
EXiSTING ! ! [ | | . . | ¥1/4°2-20 OR 3/8"3—16 MACH/‘I)IE .
Eae o | sz / L/ s2) Jf\fs@ ©®., Tx BN AU, TN o YRl /%7 | SCREWS USED JOINTLY W/ 1/4"9x7/8" /
8 i Sl ‘ s / ) ] { gl ! 4 AN DESIGN LOADS AND SPAN CONDITIONS. /| OR 3/8%8x1 1/4” CALK—IN ANCHORS /
g i b } | I , s /| g SEm FOR INSTALLATIONS INTO HEADERS USE RESPECTIVELY SHALL BE LEFT TOGETHER
3 i ; EXISTING GLASS ——] | i i i s (Df14x3/4" SMS. EA SIDE. s W/ ANCHORS AT THE TIME STORM BARS -
g i A k@/ { I 4{ } } / S , ARE REMOVED. (SEE DET. A).
= il I @ o7 [ | ] AN ~~—FOR STORM BARS C)&
%] - fo i
£ M } Lo* prs! T""‘r\@ / W e NP INSTALLATIONS 1NTO©CON RETE, USE T |
. i i 7 ! { ; S pS 1] (1)3/8"8x1 1/4" CALK—IN * EA. 1 L . ,
§ i I SEPARATION | p 77 SIDE AT CENTER OF ANGLE. s . [T MACHINE_ SCREW FULLY
< ! il ! (2)1/4"8-20 M.S. W/ ’ S 24 EMBEDDED INTO ANCHOR
2 I { TO GLASS i T ot i~ wive T FOR FOR INSTALLATIONS INTO HEADERS = ~ <
I SEE SCHED B . y S =~
& il SEPARATION oN Sz 5 OF 12 | : i Lot s OEDMD, * + ) USE (Df14x3/4° SMS. BA SIDE. 3 ) TS chor - g
] 0 GLASS 1 ) / | a1 ] KY 7 (2)3/8"# THRU BOLTS FOR @@ » - Lo
g i SEE SCHEDULE n \@ I} 1 = 4/ ! STORM BARS &é P ' g 2. Co4 T,
| ON SHEET § OF 12 | ‘ { . ! ) }
2 i C N (evonn) - SECTION S — S (FOR_REMOVABLE STORM BAR) DETAIL A '
E ” l ! | T T T SCALE : 1/2" = 1 * » n /
3 l ’ 2 ny—]| : : } SCALE : 1/2* = 1
3 (BEYOND) ! T H——l 2%4"1/4" (FOR TYPE 3 & 4 STORM
35 T T T r f ] ! ! @ BARS), 2x3°x1/4" (FOR TYPE 1 & 2 /
y i ! i | ' ' ! } y STORM BARS) Alum, ANGLE EA. SIDE x *
i I { t I 1 ! Ity i | Q’—6* HIGH W/ (2)3/8%8x2 1/4" POWER /
i { : | { s 7 by sz', | ! BOLTS TO WALL. ,
1l 2 | ‘
| i L i | | -
ii T 1Y i ' e Al
| [ [ l\@ ' | [
u . — /
i ' N i I
P \® < 1 T
b o | T\rk@ @ } ! / \- = | ——
i .
Iz ()—]] i { ! U (BEYOND) £DGE OF
i } f |l { @ @ § Isz i s1 @ , WALL
| 3 T T
A N 11 2 = H IS e Ay
i Sl Sif Bl i S _/ bl i Il 2%4%1,/4" (FOR TYPE 3 & 4 STORM BARS) - @ @ N
i ) L - POURED CONCRETE ] = 1o Ol OR 2%3%1/4" (FOR TYPE 1 & 2 STORM  ~ =
I R CNCRETE WAL | I ~BARS) Alum. ANGLE EA. SIDE x 0'-6" HIGH ~ @ OR ®_/r
I 6000 0G0 B) ! ‘ } /’f W/ (2)3/8"9x2 1/4° POWER BOLTS TO WALL - ke «tit
, | & (4)#14x3/4" 0 STORM BAR ’ S
1 | | / =
1 1 ¥ : I (£)F14x3/4" S.M.S.—/QE;
| i 1 i } EACH SIDE (Typ.). = ,
' [
|
. 3° Min. FOR TAPCON ANCHORS 7 .‘ == ; oo { SECTION St - S1
4.5" Min. FOR CALK—IN ANCHDRS / T o _{ SCALE : 1/2" = 1" /
POURED CONCRETE e OR POWER BOLTS ANCHORS t L : : ;
REQUIRED © F.B.C. (High Velocity Hurricane Zone)
/ DRAWN BY:
/ / ASSA/40mm BERTHA ROLL—UP A
. - « L.
Mﬂzm_e&mmﬂummw HALMOUNTINEL SELTION Y=t (1) INSTALATIN. ¢ / TiLleco . \ JOROAN'S ALIMION, N i
(ASSA # 124) DATE
(SEE SECTION S FOR ANCHOR TYPE REQURELENT) / ILIECO inc. 5731 DEWEY STREET
SCALE : NTS.  » SCALE : NTS. / i , TILLIT TESTING & ENGINEERING COMPANY HOLLYWOOD, FL 33023 05—-193
¢ — 6355 NW. 36th. St, Sta. 305 ~ VIRGINA GARDENS, AL 33166 PH: 954-986—1329, FAX: 954—986—1349
SINGLE SPAN SECTIONS AND DETALS SECZ!QN Vv -V - ~ = - Phone : (303)571~1820 . Fax : (305)871-1531 ™ SsarTon ™ T — DRAWING Na
ARE SMILAR T0 ABOVE SHOWN WITFiouT AUG 0 2 2005 WALTER 4, TLLIT , P, E. 1 oapar-2c  } el 3 SHEET 5 OF 12
) FLORIDA Lic, # 44167 2 4




/
POURED CONGRETE
REQUIRED >\

CONCRETE ANCHORS © 6° 0. C.

g

/

/

‘ POURED CONCRETE-
REQUIRED
/

/

/

-,

CONCRETE ANCHORS @& 12° O. C.

FOR CASES
W/OUT HEADER

I O 0
i ;
I }
I !
i |
f ,
i |
I |
.
. ,
! ’
{}-*2' (MIN)——-W: s
H
I }
I i
I ,
j i |
I |
i |
EEXISTING |} |
3 ! (! H
S
g i i
= I !
x i 1
g I |
i \ i
g i !
& i SEPARATION TO
¥ l|-—oLAss SeE scrEpuLEA
2 Il ON SHEET 9 OF 12
2 | !
E I 1
i .
:
3 g: NI
T R | Sy
H 1 | | |
I { { !
i
| I t I
i | it B Al |\® ,
It { i | i
e
It : } ! ?\{k@ /
it !
oz (uin)—]] { } }
| ) -
T |
h' 5 sy Rl i| S
I T ! *
I o ol i
|lie=t®
]
V4
/ 3" Min.

PQURED CONCRETE
REQUIRED

/

l———4.5" Min.

orTioNAL  *

®
Orio

!
EXISTING

GLASS

POURED CONCRETE
OR CONCRETE BLOCK WALL
REGD.

/

J

FOR TAPCON ANCHORS

FOR CALK—IN ANCHORS
OR POWER BOLTS ANCHORS

J

( SEE SECTION "S” FOR ANCHOR TYPE REQUREMENT)

SCALE : NT.S. \

SINGLE SPAN SECTIONS AND DETAILS !

ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADER.

S.

J

|
| 1
' i
/ : i
—2" (uiN)—! !
i
LT
| /
sz / i sal
| I
L ] { ‘
} |
| |
I
t |
} 0" N.T.s.{
/ I -1
SEPARATON TO |

[~——GLASS SEE SCHEDULE: i
ON SHEET 9 OF 12 1

1
/ !

i

@/

/

T
|
2" (MIN)—t  ~—dl ]
1 1
| |
—
v L
52 | 52
B
| IR
|
lo o
|

1

|

iy

A

7 " e 7 o Py
. . L 11/2%1 1/2%1/8% x 0'-4 1/2
v 11/2%1 1/2%1/8% FOR INSTALLATION INTO CONCRETE, * 3/47 34 ALUMINUM ANGLE W/ (2)3/8"8x3" -
R STORM BAR DEFTH _/ USE (2)1/4"@ TAPCON ANCHORS POWER BOLTS EACH SIDE. ,
e Alum. ANGLE EA. SIDE EA. SIDE FOR DESIGN LOADS UP TO *
/ 80 PSF, 54" MAX. SLAT SPAN & Ay
.1 90" MAX. STORM BAR SPAN, & / S e
s/ / (2)3/8"9x3" POWER BOLTS EACH |, 10 ,
aR AN [ N SIDE' FOR GREATER DESIGN LOADS
NP I AND SPAN CONDITIONS. FOR !
1 8
1 = INSTALLATION INTO HEADERS @, @ 7 8.
/L] O3 gf QgE USE (3)#14x3/4" S.M.S. N g
e ~ SIDE. .
PN N ! 1] o
g <
54 - ,
5 T
Q
(2)3/8%8 , N
THRU 80OLTS ; / } X /
/ ! X
- \__EDGE OF ;‘1 . \__(2) 3/8"8 -
v gw waL - & THRU BOLTS
SCALE : 1/2" = 1" = %
@ 3 _/, 4" gé/kﬁnxé,qé/ggﬁ%a;/:mi FOR INSTA/LLATIOﬁ INTO concreTe © SECTION 52 - 32
4 . USE (2)1/4"8x7/8" CALK—IN * C 14" = 1"
ar / ANGLE EA. SIDE ! ANCH(Oi)?S EA. SIDE FOR DESIGN LOADS SCALE : 1/4 >
J { P } UP TO 80 PSF., 54" MAX. SLAT SPAN
A N & 90" MAX. STORM BAR SPAN, & 7
B R : R (2)3/8"0x1 1/4" CALK~INS * EA,
r‘O O—y SIDE FOR GREATER DESIGN LOADS AND
= //MAX. SLAT SPAN OF 36° FOR _
O) (") ~T INSTALLATIONS INTO HEADERS
~ ~ or (D), USE (3)f#14x3/4" S.MS. EA.
Ol l_o OT[ , SIE
\ga N g o - : ‘
B \ N AR ~<___| MACHINE SCREW
f ! 4 -, - |TFULLY EMBEDDED
. 2 _| INTO ANCHOR
(2)3/8"8 <. — .
(::] ‘ THRU BOLTS < T\‘\ ANCHOR

SCALE : 1/2" = 1"

2% 4% 1/4" (FOR TYPE 5 STORM '
BARS) Alum. ANGLE EA. SIDE x 7*
HIGH W/ (2)1/2"0x2 3/4" POWER
BOLTS TO WALL & (4)1/4°# S.S.
THRU BOLTS TO STORM BAR. /

/

* 1/4"9-20 OR 3/8"9~16 MACHINE /|
/ SCREWS USED JOINTLY W/ 1/4"#x7/8"
OR 3/8"8x1 1/4" CALK—IN ANCHORS
RESPECTIVELY SHALL BE LEFT TOGETHER
W/ ANCHORS AT THE TIME STORM BARS
ARE_REMOVED. (SEE DET. A). 7

£

(4) 1/4"8 S.S.
THRU BOLTS

WALL

Y,

_am,
2
\1 | -

\ -
| EDGE OF

1/2"
e
~

N

Typ.

/2"

t

SECTION S1 - S1

SCALE : 1/20 = 1"

F.B.C. (High Velocity Hurricane Zone)

SCALE : 1/2° = 1°

#

/

liLlec

i |
|
i } * (BEYOND)
& N s 7 | s
2 | I B
| v 1! !
t I ]
] — | I
1@ 0O I 2% 4*% 1/4" (FOR TYPE 5 STORM BARS) ~
| LI Alum. ANGLE EA. SIDE x 0-7" HIGH W/
v A { (2)1/2"9x2 3/4° POWER BOLTS TO WALL & 7
} I (#)1/4°¢ S.5. THRU BOLTS TO STORM BAR. ,
I | |
[} | |
[+} { {
| I
| I
] 1
2 %
1 QO Of
|
/7
L
| s
SCALE : NT.S.

SECTION V — V

e

UG 0270

8355 NW. J6th. St., Ste. J05 —~
Phone : (305)871-1530 . Fax
EB—0006719

WALTER A. TILLIT Jr, P. E
FLORIDA Lic. ¥ 44167

TILLIT TESTING & ENGINEERING COMPANY

INM_CARDENS, Fl. 33166
: (365)871~1531

O inc. \

ASSA/40mm BERTHA ROLL—UP | o0 e
JORDAN'S ALUMINUM, INC. 8/1/05
(assa f 124) DATE
5731 DEWEY STREET
HOLLYWOOD, FL 33023 05—-193
PH: 954—986--1329, FAX: 954~986—1349
REV. No DESGRIPTION DATE | AEV. Mo DESCRIPTION 3 DRAWING No
; 2o o L2 : SHEET 5A OF 12




7/ 7/

3%3(Max.)x1/8" Cont. Alum. TUBE W/ . ) P I%4"(Min,Jx1/8" Cont. Alum. TUBE W/ S ) , I—J/4 *‘-3/4 \ /
2%2'%1/8°%0°-3" (Max.) ALUMINUM \ #14 x 3/4° SM.S. @ 12" 0. C. TO TUBE 2%2%1/8%0~47(Min.)  ALUMINUM \ #14 x 3/4" SMS. @ 12" 0. C. TO TUBE , X
ANGLE TO BUILD-OUT TUBE W/ ANGLE TO BULD—OUT TUBE w/ 7 | e FOR INSTALLATIONS INTO TUBE &
(3)f14x3/4" SMS. EA LEC & . (3)#14x3/4” SMS. FA. LEC & / N ] | Ha e "~ —HEADERS ©). ().(DOR(), USE
CONCRETE ANCHORS @ 12° D.C. FULL CONCRETE ANCHORS @ 12 O.G. FULL / Fasrosuay 2)f14x3/4" 5.M.S. EA. SIDE FOR
(2)f 1423/
LENGTH TO FOURED CONCRETE / LENGTH TO FOURED CONCRETE , " «dih . T A : % DESIGN LOADS UP TO 80.0 psf &
— y T -y H H O (Df14x3/4* S.M.5. EA. SIDE FOR
/ - AN NS d GREATER DESIGN LOADS.
POURED CONGRETE / CoNeReTE / J / N .L_O E_, y :[3. 9 !
REQUIRED \ ] q \® REQUIRED —\ ; ] St ™ \ N RS \@ @ @or@
§ § (.
x 5 . / T
4 53/ FOR CASES N ‘ 1o o o / / L N (2)#14x3/4" SMS. FOR DESIGN *
g | 3 3 \® NS LOAD UP'T0 80.0 p.s.f & /
. | -_ W/OUT HEADER i i N / p = (3)#14x3/4" S.M.S. FOR DESIGN *
/ ‘ | A ror cases LOAD GREATER THAN 80.0 p.s.f.’
l - . W/OUT HEADER 1 1/2%1 1/2°%1/8" x EACH SIDE.  +
; } ‘ , STORM BAR DEPTH Alum. . _QEQILQN /ﬂ — SJ ?
- | N - ‘ \_ormona. ANGLE EA. " SIDE
‘ ‘ ’ ; SCALE ; 1/2" = 1 ,
. . 1 1/2%1 1/2'%1/8"
| S | = Q @ 7 I—J/ o l x STORM BAR DEPTH /
, @ @ J ‘ i e 2 ; Alum. ANGLE EA. SIDE
| oN© | o 0 o - S RN g [
2* Min or 2* in { l l T E 1 f—'d O 1
. ] N & S
| L7 s ¥l oM -t O | 5
| / / N ki ! / il e N
| D
, 73 PM’ %4—?@\\@ /
o | =00 B B, ee6 ‘
- a :
WINDOW GLASS Q& & - (2)f14x3/4" S.M.5. FOR DESIGN ~
4 | R / LOAD UP T B80.0 p.s.f. & -
/ I / / ZOJD@’,%TAL@T’ONS R usE N (Df14X3/4” SMS. FOR DESIEN
SEE SHEET 9 OF / | % ' 21414 : , = LOAD GREATER THAN 80.0 p.s.f. .
FOR Min. SEPARA (2)f14x3/4 " SM.S. & S’DE FOR EACH SIDE.
SEE SHEET 8 OF 12 DESIGN LOADS UP TO 80.0 psf & .
TO GLASS. ——————FOR Min, SEPARATION 3 ' ”
/ n. B (2)414x3/4" S.M.S. EA. SIDE FOR
TQ GLASS. / ,
s | ]5 / N GREATER DESIGN LOADS.
(BEYOND) 7@ (BEYOND) , , / ’
| Ll \ 18l SECTION - S3 — S3
SCALE : 1/2* = 1"
/ $ .
I BUILD~OUT TUBE l ’ l V l 2"%7"(Max.)x1/4" Cont. r’\/--l @ @ @or g
‘BEYOND,
} i (BEYOND) l 1 ALUMINUM ANGLE (CASE 1) .
2" Min l I ] i , WHEN APPLICABLE
v (5)3/5 #x2 1/4" POWER BOLTS @ 4° ,
2.000" Min.—\ or ‘ OC. ATTYPE1, 2 3, & 4 STORM BAR 1 1/2%1 1/2°%1/4" x STORM
' | ’ ' ‘ - l / LOCATION AND (7)3/8°0x2 1/4" POWER ¥ BAR DEPTH Atum. ANGLE W/ -
! B O AoneiC AT TYPE 5 STORM (2)f14x3/4" SMS. EA. SIDE EA. ~
BULD~OUT TUE ] l ‘ | ‘ I , - LEG FOR DESIGN LOADS UP TO -
. L] 7/
(oEvong; i _— 80.0 paf & (I)f14x3/4" S.M.S.
l \@ H @ EA. SIDE FA, LEG FOR GREATER
sst Al ! [\[\ DESIGN LOADS. -
} y
] | <) = 1] =1
7 4 =
| | ' | j
s § oo oo ; : .
. 7 | 12.000" —12.000° —|— 4.000" —— 4.000"—— 4.000" —\— 4.000" ——4.000" ——12.000" — 12.000
n LIl LIALLI (T I = Ve ~ e rd -
- T - / ~
~ 4" x 6" x .250" Cont,
- X / it ’
B * z /
- ¥ 2%7"(MAX.)x1/4° CONT, ALUMINUM ANGLE W/ e .
» 1/4°# TAPCON ANCHORS @ 12" 0.C. W/ 2%3"(Min.)x1/4" Cont. ALUMINUM ANGLE 7 . LEVATIO e
J CONCENTRATION OF (5)3/8%¢x2 1/4° FOWer W/ CONCENTRATION OF (4)#14x1 1/2 0% -p330.04
BOLTS @ 4" O.C.ATTYPE 1, 2, 3, & 4 SMS. @1 1/2 O.C..AT STORM BAR - SCALE @ 1/8" = 1" / R @é /l
/ STORM BAR LOGATION (SEE ELEVATION X), AND 7 LOCATION, REST @ 127 O.C.
f W/ CONCENTRATION OF (7)3/8"9x2 14"
POWER BOLTS © 4" 0.C. AT TYFE 5 STORM
DR CONCHETE 51 60K BAR LOCATIONS. (SEE ELEVATION X). / R oR \___
REQUIRED / CONCRETE BLOCK 4°%6"MAXx1/4" CONT. ALUMINUM TUBE W/ 1/4° 7
/ REQUIRED | / # TAPCON ANCHORS (¢) 12" 0. v/// y
CONCENTRATION OF (5)3/8"¢x2 1/4" POWER

/
CASE | F.B.C. (High Velocity Hurricane Zone)

BOLTS @ 4" 0.C. ATTYPE 1, 2, 3, & 4 STORM
BAR LOCATION (SEE ELEVATION X), AND W/ ~

/ + CASE I

CONCENTRATION OF (7)3/8%9x2 1/4" POWER DRAWN BY:

FIXED STO (¢, CTION A UILD-0UT BTS04 0 AL DeE 5 aTomd GaR ASSA/40mm BERTHA ROLL—UP v

, ) LOGATIONS. (SEE ELEVATION X). .
INSTALLATIONS W/SHEET METAL SCREWS -I-—I-—— JORDAN'S ALUMINUM, INC. 8/1/05
SCALE : 1/4" = 1" - ASSA # 124 DATE
v 1 'L Ec o INC. 573(1 DEWI:YST:EET
SINGLE SPAY B crioNs AND DETALS SECTION -V , TILLIT TESTING & ENGINEERING COMPANY HOLLYWOGD, FL 33023 05-193
ARE SMILAR TO ABO N 8355 MW Jeth. St, Ste. 305 ~ VIRGINA GARDENS, FL 23168 PH: §954~986~1329, FAX: 954—986-1349
STORM A & HEADERS. " wimour S Fhone : (’“1‘725"5?}0 gorg (SIS T —Tr e ———1  DRAWING No
0 WALTER A. TILLIT Jr., P. E. ; = A
AUG 0 2 2005 FLORIDA Lic, § 44167 1 ] SHEET 6 OF 12




& BOTTOM).

T2
TPL

NN

1 Zz'xi 1/2'%1/4%
MULLION DEPTH Alum. ANGLE
(EACH SIDE) W/ (2)3/8°¢

POWER BOLTS W/ I 1/2" Min.
EMBEDMENT TO SLAB (Typ. TOP)

@@=@

POURED CONCRETE

REQUIRED —\

TAPCON

N

e

C)C)O"I

ANCHORS @ 6" O.C.

O (5)[14;(3/4'

/

POURED CONCRETE

REQUIRED _\

/ J
@@OR@ (ONLY FOR W-W(2))

14x3/4" S.M.5. FOR ~

InIN3/8°%0'-3" (6081-T6 ALLOY) Alum. ANGLE 7/

FOR SINGLE SPAN HEADERS & 3%3°xJ/8'%0'-8" -
{8061~T6 ALLOY) Alum. ANGLE FOR MULTIPLE SPAN

i/ (1)1/2°¢ THRU BOLT TO MULLION ~

THRU SIDE RAL AT SINGLE HEADER SPANS & 7
(2)1/2%8 THRU BOLTS AT MULTIFLE HEADER SPANS. 7

8
] L ,
. :
G
§ Do oR—"| /\I |
§ WINDOW GLASS HEADERS W
Vs
S |
? G/e or /4
=4
| \@ )
@@= _

L— (2)3/8%8 THRU BOLTS FOR UP TO /
/| 150 paf DESIGN LOAD & (3)3/8"¢
THRU BOLTS FOI

IR GREATER LOADS ~

NN

g

L5 Min. Typ:

v/

SCALE : 1/8" = 1"

FLOOR/CEILING MOUNTING :

SECTION W-W (1), W/O HEADER '
SECTION W-W (2), WHEADER *

I* x 37 ALUMINUM ANGLE

OlOLG

N

ELEVA T/ONA

sEt =t

(Dp. TOP & BOTTOM)

POURED CONCRETE
REQUIRED /

OOV —

3* x 3 ALUMINUM ANGLE "]

@—

/

/TAPCVNANCHORS @ 1270 C.

NN

/
T

DO

/

ALTERNATIVE: #1 /

WALL MOUNTING : SECTION W-W (3)

WITH MAX. SPAN=

/

POURED CONCRETE

REQUIRED —\ /

2"n4"%1/4%0"-8" Alum.
ANGLE CONNECTED TO WALL ;

W/ (B3/sn2 1/t
POWER BOLT ARCHORS
HDWN 7

I%3'%3/8%0"-3" (606116
ALLOY) Alum. ANGLE W/
(4)414x3/4" SM.S. TO HEADER & 7
1/2%xé 3/4* POWER HOLT

ANCHOR TO WALL.

4

/
WALL MOUNTING : SECTION W-W(3)

Z*MULLION'S DEPTHx1/8" Cont. *
ALUMINUM TUBE W/ 2%2%1/8%0°-2" /
ALUMINUM ANGLE TO MULLION W/ __*

(3)#14x3/4° SM.S. EA. LEG.
(TOP/BOTTOM TYF,)

v
ALTERNATIVE: #2

1
|
|
|
|
|

— 0 WALL. / Min. |
|
|
|
|
|
|

. ) 2°%2%1/4"%0'-6" Alum. ANGLE EA., / 7,
Vs ~ A SIDE W/ (2)3/8"#x2 1/4" FOWER
/ \ f BOLTS TO WALL & (2)3/8°¢ THRU / —————
oy Vg BOLTS TO MULLION, r— =
\ - / I 77N
N ))—-——@sEYDNa / © Jeoeo / \
Y
B -:_-—-_—../// / Y/ | ‘\ r"
/ POURED CONCRETE N
| REQUIRED o 7l ~—-
N =
H. 740 Y/ 7
@@w@ 222222252% ]

’
2°%4"%1/4%0'-8" Alum, ANGLE W/

(4)1/4°8 THRU BOLT TO HEADER & /
(J) 3/8" ¢ x 2 1/4" POWER BOLTS —

USE 2%7 x1/4 Alum. ANGLES FOR | 4

CASES W/ 3* BULD~OUT TUBE. DOOR ———

OR
WINDOW GLASS

/

NO HEADER & STORM BAR ALLOWED. <
SPLIT ROLL UP MULLIONS &
TRACKS W/ FACE MOUNT.

\@/

1%1%1/8"%CONT. ALUM ANGLE 7
W/@14x1/2° S.M.5. © 12 O.C.

T
|
SCALE : 1/8" = | |
SCALE : 1/8 = 1 / | \l
l N
NOTE: | I
THIS INSTALLATION IS ONLY VALID FOR STORM BARS ~ | |
7'-0" HEADERS CON 12'-0" MAX. - | |
SINGLE SPAN & 80 p.s.f. MAXIMUM DESIGN LOAD, OR -
STORM BARS WITH MAX. SPAN = 6-0% HEADERS WITH |
15~0" SINGLE 80 p.s.f. MAXIMUM DESIGN LOAD. - L b lood
N\
YN
e - / L
o= |
®———— POURED CONGRETE ;
REQUIRED OR CONCRETE . Y
/ / BLOCK REQ'D T |
cloloRe Y
'EXTENDED PASSED OPENING, 2'.\’2')(1/4".\’0'—5' Alum. ANGLE EA. SIDE L1
= € 5 ) Y % W/ (2) 3/8"8x2 1/4" FOWER BOLTS 10”7 i !
= e} WALL & (2)3/8"¢ THRU BOLTS TO \
.;E"- 5 3.5'7,[‘ MULLION. + N p
pr K PN WALL MOUNTING : MULLION CONNECTION
L S 3 | s g—
N

/

-O I/

|

|
®/b§;

(2)2 %4 %1/4"x0"—8" Alum. ANGLE

W/ (4)1/4°8 THRU BOLT TO HEADER
& (3)3/8"ax2 1/4" POWER BOLTS /
TO WALL EACH ANGLE W/ 1 1/2" ,

Min. PENETRATION.

ELEVA TIONA

SCALE :

1/8° = 1* 7

e

ELEVATION/X2 5

SCALE :

TYPICAL HEADER CONNECTION AT ENDS:

SECTIONS W-W
v

1/8" = 1‘

AUG 02 2005

AT TOP & BOTTOM : SECTION W-W (1)

SCALE : 1/8° = 1 y

F.B.C. (High Velocity Hurricane Zone)

NoeNe

I

/

/TiLIEC O me. \

TILLIT TESTING & ENGINEERING COMPANY

6355 N.W. J6th. St, Ste. J05 — VIRGINIA GARDENS, F1 33166
Phone : (305)871-1530 . Fax : (305)871-1531

ASSA/40mm BERTHA ROLL—UP | PHINE"
JORDAN’S ALUMINUM, INC. 8/1/05
(ASsA § 124) patE
5731 DEWEY STREET
HOLLYWOOD, FL 33023 05-183
PH: 954—986—1329, FAX: 954~986-1349 SRAWING No

EB--0006719 DESCRIPTION 2AYE | AV, Ko

WALTER A. TILLIT Jr., P. E 1 OLD 01-203 o170 3

FLORIDA Lic. # 441567 2 4

SHEET 7 ©OF 12




-

L

WOOD HEADER REQUIRED

EXISTING GLASS

/

VARIES, SEE TABLE 1 ON
SHEET 9 OF 12 FOR Min.
SEPARATION/GLASS. /

)

2"4" CONT.
SILL PLATE
REQUIRED,

/

SONANINANANSNSNSNNNSNIN

[

1/4"8 LAG SCREW @ /
EA. STUD

7 ,/"“\\\
: \

/

|
\

AT

/

’

AN N NN NN ANANNN

-

1.000"

~ —_—— 4
1 / | —~OPTIONAL

LSS

~
[~

——2/\Min:

24" WOOD STUDS
REQUIRED @ CORNER
(TYPICAL)

k/
ZANNANAN NN NN

SOONNNANANN

-<, -

£Q

7

LS

AN

. /
. \\E
» /
— __%% ) ®/

/

/

PLAN A (SECTION)

T

L
A ,
y £Q.£Q ax.
T T L)

WALL MOUNT

SCALE : 3/8" = 1* )

2"x4” WOOD STUDS REQUIRED /
@ CORNER (TYPICAL) ,

. T

PLAN B (SECTION) +

1'%2"%1,/8” Cont. Alum.
ANGLE "(6063-T6 ALLOY)

1/4"¢ LAG SCREWS @ 12" 7
0.C. W/ 1 1/2" MIN. +
THREADED PENETRATION @

INSIDE MOUNT -

L T_@ | @éﬁ

~

- 1/4"8 LAG SCREWS © 6" Y
0.C. W/ 1 1/2" Min,
THREADED PENETRATION TO

14

EXISTING WOOD STUD. .

2/\Min:

SCALE : 3/8" = 1"

Ve

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP TO *

2"4" STUDS

/

— 2" x 4" WOOD STUDS ~
REQUIRED ® CORNER
(TYPICAL)

/
;

/

— | =t—1/4"0 LAG SCREWS © 6"
A oc w1 1/2" Min.
Tl | THREADED PENETRATION TO
2"%2"%1/8" Cont. Alum. TUBE v L TN R TR A | 1 O EXISTING WoOOD STUD.
063-T6 ALLOY) s . onan s o
,,(6 X /) Y sl 1%3"%1/8%, 2%3%1/8" 7
#14"%3/4" SM.S. £e 3%3"%1/8" OR 3'x4"x1/8"
@ 6" 0.C. s - CONT. BUILD=0UT TUBE.  ~
1/4"6 LAG SCREWS © 6" 0.C. W/ / H14x3/4” SM.S. .
1 1/2" Min. THREADED ¢ es oc &Ik
PENETRATION TO EXISTING WOOD 7
STUD.
/

75.0 psf.

W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

. FOR NEW FRAME CONSTRUCTION: WOOD MEMBER TO BE SOUTHERN PINE No. 2 |7

/
. MINIMUM PENETRATION OF LAG SCREWS INTO WOOD MEMBER TO BE 1 1/2"
. THIS APPROVAL INCLUDES INTALLATION IN WOOD FOR SINGLE UNITS WITHOUT |

£QIEQ

Y

PLAN C (SECTION)

BUILD-oUT -

7 PROBVOY

@

MIDWIDTH OF PLATE ¢ STORM BARS, MULLIONS & HEADERS AS SHOWN IN THIS SHEET. . SCALE : 3/8" = 1" Vs
AIH 7/
wooo stup o F.B.C. (High Velocity Hurricane Zone)
REQUIRED ~ / ,
‘ / ASSA/40mm BERTHA ROLL—UP | o er
' : ILIEC O «c. Ussa 4 124)
SINGL-E SPA N CONDI TION TILLIT TESTING & ENGINEERING COMPANY Hsaﬁ;wggg?ﬂsﬁfg.! 05-—- 193
@m 6355 N.W. 36th. SL, Ste. 305 ~ VIRGINIA GARDENS, Fl. 33166 PH: 954—-986-1329, FAX: 954~986—1349
N T S { e 3 Phone : (Jos)artx_;_os.vgo.sﬁ';a; 9 (305)871-1531 yra T T me—— pr— e DRAWING No
e 005 -
HIG 9 % 2005 il [ e o e 2 sveer o o v




4 —t—
SLAT PERFORMANCE CHART ,
MAXIMUM_DESIGN PRESSURE RATING "W” (p. s. f.)

AND_CORRESPONDING MAXIMUM SLAT SPAN "L” FOR TYPE 1 SLAT ’ —— -
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD) /7 E 2 — z 3
p—— ’
—:—

= =]
SINGLE SPAN 7

= : =I
MULTIPLE SPAN

SLAT TYPE
MAXIMUM MINIMUM SEPARATION SPAN LAYOUT
, SLAT SPAN TO GLASS /
Mox.
DESIGN SINGLE & SINGLE & SINGLE &
LOAD MULTIPLE MULTIPLE MULTIPLE
"W" (p.s.f.) UNIT * UNIT »» 7 UNIT wee
40.0 4-2" / 2 3/4" 2 3/4",
45.0 —g” 2 5/8" 2 5/8"
10 A / *  SPANS VALID FOR EVERY INSTALLATION LOCATED AT ANY ELEVATION OF
50.0 311", 2 5/8" 2 5/8" BUILDING MEASURED AT BOTTOM OF SHUTTER.
. - MINIMUM SEPARATION TO GLASS FOR SINGLE AND MULTIFLE UNITS SHALL ¥
55.0 3'-9" . 212" . 2172, BE MEASURED FROM BACK OF SLAT TO GLASS.
50.0 38" - 2 172" . 2 12" £ MINIMUM SEPARATION TO GLASS FOR SHUTTERS INSTALLED WITHIN THE ~
i FIRST 30'-Q0" ELEVATION OF BUILDING AND MAXIMUM SPAN. SEE TABLE 1
£5.0 8" - 2 12" - 2 1/2" ¢ FOR Min. SEPARATION TO GLASS FOR SPANS LESS THAN THE Max. ALLOWED. V'
PR P — w5 MINIMUM SEFARATION TO GLASS FOR SHUTTERS INSTALLED ABOVE 30'~0"
70.0 3'-5 238" 2 3/8 ELEVATION OF BUILDING, MEASURED AT BOTTOM OF SHUTTER. _,
75.0 33" 2 3/8" . 2 3/8" -
80.0 32" 7/ 238" . 2 38" . TABLE 1: 7/
85.0 3=1" 2 1/4" 2 1/4", -
90.0 3'-0" * 2 1/4" 2 1/4".
) "y » ) /
95.0 2'~11 21/4" 2 1/4" . SLAT SPAN (ft.) MINIMUM SEPARATION TO GLASS
100.0 2'-10" 7 2 1/4" / 2 1/4% 1 . "
/ / 36" OR LESS ~ 2 1/4 -
> 36" TO 48" » 2 5/8" .
” » / H Ve
> 48" T0 50 2 3/4

F.B.C. (High Velocity Hurricane Zone)

DRAWN BY:
ASSA/40mm BERTHA ROLL—UP o
JORDAN'S ALUMINUM, INC. 8/1/05
~ ILIEC O« (4ssh # 124) il
tgueﬁ:;::éj\\ . 5731 DEWEY STREET
- D) TS TILLIT TESTING & ENGINEERING COMPANY HOLLYWOOD, FL 33023 05-~193
AUG 02 2005 B e ARy
X3 . 1 3 A
WALTER A, TLLLIF Jr., P, E. 1 o o203 | Gm] 3
FLORIDA Lic. # 44167 2 7 SHEET 9 OF 12




MAXIMUM DESIGN PRESSURE RATING “W" (p. s. f.) AND 'CORRESPONDING MAXIMUM SPAN "L” FOR

STORM_BAR _LOADING CHART ~

re

A_GIVEN TYPE OF STORM BAR AND STORM BAR SPACING. -~

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD) 4

s

(

MAX. SPAN FOR STORM BARS W/REGULAR CONCRETE ANCHORS

F.B.C. (High Velocity Hurricane Zone)

TYPE 1 STORM BAR TYPE 2 STORM BAR J STORM BAR TYPE 4 STORM BAR TYPE 5 STORM BAR s
MSL)_(gIJGL"VM @2"::2"):1/4"/ @2"x3'x1/a“, ®2x4x1/8'/ @ 2" x 4" x 1/4"° @(2)2"x4"x1/4"
'W"LOAD p * STORM BAR SPACING * STORM BAR SPACING ' * STORM BAR SPACING * STORM BAR SPACING * STORM BAR SPACING
(st PR EET YD PEE A RENE PEES RN PEEE EEY PEEE EEE
40 7'-7" 7'-1" 8-0"., | 7’-g" . 10°-0" | 9'-6" -} 11-10"}] 11'-0", 14-1" | 13-1"
45 7'-5" &'-11" | g0/ | 7-4" g—11” | 8&-11° 11’-6* | 10-8". | 138" 12'-9"
50 7'-3" - 6-9" 80" |6-11"" g'-8" 8-} 11°-2*. | 10-5" 13'-4", } 12'-5",
55 7'-0" 6-5" - 7'-8"- | 68"+ 9'-4" 8-1", 10°-11" | 102" 13-0".{ 121"
60 g-11"1 6-2" 7'—4" | 64", &8-11" 7'-g", 10'-8". g—11" | 12’~9" 11'-10!
65 6-9" s-11%| 7-17- | 61"+ 8-7" 7'-5*,  10-6". | g'-9" .| 12-"-| 117"
70 6'-7"- 5-8".} 6'-9" |5-11", 8'-3" 7'-2% | 10°-4". 9'-6" 12-3".1 11-5"
75 6'-4* 5'-6" 6'-7* | 5'-8" , &8-o0" 611" | 10°~1" 9'-2" 12’-0" 11'-2",
80 6'-2". 54" | 6-4"- | 5'-6" 7'-g" 6'-9". | g-11" | 8-11" 11°-10"} 110"
85 8'-0". 5'-2"- §—2% | 5—4"~ 7'-6" 6-6"- | 9'-10". | 8-7" 11'-8" 10'-10"
90 5~10~ | 5-0" 6'-0" }5-2" 7'—4" 6-4". | g'-8"' a-4" 11°-6*. 1 10-8"
95 5-8* - 4-11" | 5-10" | 5-1". 7-1" 6'-2" | 9°-5" 8-2". 11'—4" 10'-7",
100 5-6",| 4-9" 5-g" | 4-117% 6'-11" 6'-0". | 9-2* 7'=-11" 11°-2*1 10-5"
V4
* STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM
SLAT SPAN SHALL NOT BE EXCEEDED.,
/ TLIEC O e, \
JS— Iy TILLIT TESTING & ENGINEERING COMFPANY
@?@\\M o388 "F'.fa,.‘l“"a’és)s’;'r-fé'ga rqﬁfw?m)an—;say 08
EB—-0006719
AUG 0 2 2005 AT Lyt

ASSA/40mm BERTHA ROLL—UP DR?Z’_VKBY"
JORDAN'S ALUMINUM, INC. 8/1/05
(ASSA # 124) DATE
573t DEWEY STREET
PH: 954—0te TR0 FAk: ‘O08 6861349 05-193
REV. No DESCRIFTION DATE - REV. No DESORIPTION DAYE DRAWING No
1 oLD 01—203 s 3

4

SHEET 10 OF 12




HEADER LOADING CHART ~
MAXIMUM DESIGN PRESSURE RATING "W” (p. s. f.) AND CORRESPONDING
MAXIMUM SPAN "L” FOR A GIVEN TYPE OF HEADER.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD) /

TYPE 1 HEADER @ TYPE 2 HEADER TYPE 3 HEADER @ S TYPE 4 HEADER @ /
MAXIMUM 2"x 3"x 108" 2" x 4" x 1/8" 2"x 4" x 1/4" 2" x 6" x 1/8"
DESIGN
.W..L?:_DS 3 STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT
<5-0"4 5107 <5-0"1 5708 ., 8710 100 <6-0"} 6108 | 8801w |or012) 1271014} < 6-0" 6’108 | 87010 | 10070 12| 12° TO 14
oo or Lesq  9'-11" . 8'-4", 12'-2" | o'-8" . 8'-8" ¢ 14'=10" | 12'-10" 11'-6" 10'-6" 99" 15'~1" 13°-1" 11'-8" 10'-8" 9'-11"
45.0 g'-4" . 7'=-11" 11°-6", §'=1" 8'-2" - 14'-0" - 12'-2" t0'=10" 9'-11" 9'-2" 14'-3" 12'~4" 110" 10'=1" g9'~4"
50.0 8'-10" 7'-6", 10°-11" 8'-8", 7'~9" 13'-3", 11'~8", 10°-4" 9'-5" 8'-8" 13'-6" 11'-8" 10'-6" 9'-7" 8'-10"
55.0 8'-5", 7'-2", 10'-5", 8'-3". 7'=4" 12'~8", 11°-0" 9'-10" 9'-0" 8'—4" 12'~-11" 11'-2" 10°-0" g'-1" 8'-5"
60.0 8'-1"- 6'-10" . 10'-0",}  7'-10" 7'-1", 12'-2". 10'-8", §'-5" 9'-7" 7'=11" 12'-4" 10'-8" 9'-7" 8'~9" 8'-1"
65.0 7'-9". 67" - 9-7", 7'=-7" . 6'~9". 11'-8", 10-1", g'-0" 8'-3" 7'-8" 11'=10" 10°-3" 9'-2" 8'—4" 7'-9"
70.0 7'-6" 6’4" - g'-3", 7'-3", 6’6"~ 11'-3"% 9'-g" 8'-8" 7'-11" 7'-4" 11'-5" g'-11" 8'-10" g'-1" 7'~6"
75.0 7'-3" 6'~1" - 8'-11", 7'-1", 64" 10°-10" 9'~5" ¢ 8'-5" 7'-8" 7'=1" 11'-0" g9'-7" 8'-6" 7'-10" 7'-3"
80.0 7'-0" - 511"~ 8'-8" ; 8'-10" g'-1"" 10'-g" . 9'-1", 8'-2" 7'-5" 6'-11" 10'-8" g'-3" 8'-3" 7'-7" 7'-0"
85.0 &'-9" 5'-9" - 8'—4" &'=7""’ 5-11" 10'-2" . 8'-10", 7'=11" 73" g'-8" 10°~4" g'-0" 8'-0" 7'—4" 6'-9"
90.0 &'-7"" 57" 8'~2" ¢ §'-5" 5"’ 9'~11"7 g'-7" 7'-8" 7'-0" 6'-6" 10-1" 8'-9" 7'-10" 7—1" g'-7"
85.0 §'~5"" 5'-5"" 711" 6'-3" 57" 9'-8" + 8'-4" 7'-6" &'-10" 6'-4" 9'-10" g'-g" 7'-7" §'~11" 6'-5"
100.0 6'-3% - 5-3" 7'-9" . 6'-1" 5-5"" g'-5" v 8'-2" / 7'-3" 6'-8" 6'~2" §'-7" 8'-3" 7'-5" 6'-9" 6'-3"

05-0930.04
b Jjog/ 1}

F.B.C. (High Velocity Hurricane Zone)

ASSA/40mm BERTHA ROLL—UP oA B

JORDAN’S ALUMINUM, INC. 8/1,/05
i) ; ILIEC O x¢ (ASSA # 124) DATE

5731 DEWEY STREET

~LJILLIT TESTING & ENGINEERING COMPANY HOLLYWOOD, FL 33023 05-193
T e W, J8ih. St. Sta. - DENS, £, JI188 A —986- ] —986-
NP% ‘;:m (.%5) 55‘;-7'330 ) }/_IGI:’GI{.VI?Jgng 77_’5‘}, 1 PH: 854-986-1329, FAX: 954-986~1349 DRAWING Na
AUG 02 2005 EB-0008719 REY. No DESCRIPTION DATE REV, Ne DESCRIPTION DATE
WALTER A, TILLIT Jr., P. E. 7 oLD 01~203 4/1705 I
FLORIDA Lic. §f 44187 2 ] SHEET 11 OF 12




MULLION LOADING CHART ~ )
MAXIMUM DESIGN PRESSURE RATING "W” (p. s. f.) AND CORRESPONDING MAXIMUM

SPAN_"L"(Ft) FOR A GIVEN TYPE OF MULLION AND MULLION SPACING (F1.). -
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

/
i/

e 1 wuiLion () mvee 2 uuLLion (0) rvee 3 wuiLion (B)
MAXIMUM T 18 454" 14" 5 6 14
DESIGN
LOAD
W* (p.s.f.) MULLION SPACING MULLION SPACING MULLION SPACING

sv-0'|lvoslswele o8] a-0"|4T05[5T06|6T08)< 4-0"j4T05|5 1066 T08}8 70 100" TO 12
40.0 or tesd 9°-0" | 8'-4" | 7'-10"| 8'~2" | 11'-9" |} 10'~11"Y 10°-3" | 10'~8" { 16"~4" } 152" | 14'-3" | 14'-10"] 13'-10"} 13'-0"
45.0 8'-8" | g'-0* | 7-7* | 7-10" | 11°-4" | 10’-6" | 9'~11* } 10°-3" | 15°—8* | 14'—7" | 13'-8" }14—4* | 13°-3" | 12’-6"
50.0 8'-4" § 779" | 77=3" | 7=7* }10°=117} 102" | 9'-7" | g'~11* | 152" | 14-1"} 13’-3" } 13'-10"| 12"~ 10"} 12'~1*
55.0 g1 | 7—6* | 7-1" | 7~4* | 10™-7" | 9'~10"]| 9’3" | 9-7" | 14=8" | 13-7" | 12-10"| 13°~4* | 12’=5" | 11'-8"

60.0 7-10"} 77-3" | g~10"] 7-2" | 10°-3" | 9’-7" | 9'-0" | 9'-4" | 143" | 13-3" | 12'=5" } 136" | 12’=1" | 11°—4"
65.0 7-8* | 71" | 6'=8" | 77-0" | 100" { 9'-4" | 8'-g” | 9'-1" | 13'=11"}12'-11"} 12'=2" } 12'-8" | 11°=9" | 11°-1*
70.0 7-5" lg'—11* | 66" | 6~10"] 9'-9" | 9-1" | 8'-6" | 8'-10"} 13-7" | 12°~7" | 11"-10*| 124" | 11’=5" | 10°-9"
75.0 7-3" | 6'-g" | 6~4* | 68" | 9'-7" j&-10" | 8'-4* | 8-8"} 13'-3"] 123"} 11°-7" | 12'-1" | 112"} 10-6"
80.0 7-2" | -7 | 6'-3" | 6-6" | 9'~4" | 8-8" | 8'-2* | g'-6" | 12°-11) 120" | 11°~4" }11°=10"| 10°~11"] 10°-4"
85.0 7-g" t 6'~6" | 6'-1" } 6'-4" | g'-2" | 86" | 8'-0" | 8-4" }12-8° | 11'=9"} 11°=1"| 11°-7"} 10'-9" | 10"-1"
90.0 6—-10"| 6'~4" | 6'-0" | 6'-3" | 9'-0" | 8-4" | 7'-10"| 8~2" }12'=5" | 11'=7"} 10’=11"} 11'-4"|10'-6" | 911"
95.0 6'-9" 6-3"| 5-107 6-2" | 8'-10"{| 8-2* | 77-g" | 81" | 12°-3"| 11-4*| 10’-8"] 11'-2"} 10'-4"| 9'-9"
1000 | 6-7" | 6™~2* | 5-9”| 6~0" | 8'-8" | 8-0" | 77~7* | 7—11"} 120" | 11-2"| 10’-8*} 10°=11"} 10"-2"} g'-7"

NOIES :  REFER TO ELEVATIONS ON SHEET 14 OF 12 /

1—-. FOR _MULLIONS INSTALLED W/0 STORM BARS /

A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED

2—. FOR MULLIONS INSTALLED W/ STORM BARS & HFADERS /

A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM HEADER SPAN SHALL NOT BE EXCEEDED I
B) STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDEDf

F.B.C. (High Velocity Hurricane Zone)
ASSA/40mm BERTHA ROLL—UP | omm s

JJd.V.

I l P—— JORDAN'S ALUMINUM, INC. 8/1/05
/ “- E c O INC. (ASSA # 124) DATE

5731 DEWEY STREET

TILLIT TESTING & ENGINEERING COMPANY HOLLYWOOD, FL 33023 05-193
8355 N.W. 36th. 8i., Sia. 05 ~ VIRGINIA GARDENS, F1. PH: 954~9868-1329, FAX: 95498613439
AUG 0 2 . Phone : (ana)ari:z_sla;zaer;;g (305)871- N — o T e DRAWING No
WALTER A. TILLIT Jr., P. E. 1 oLD 01-203 /e X
2005 FLORIDA Lic. § 44167 2 - SHEET 12 OF 12




